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CHel: BNEts BE s ECRE
2N - FHH..2A(SH) - HIEAMY - BHAS 0| AFCH & Hl =2
e 446,578 431,471 15,107
FOIEN RXHE AS(PUH) (LD /UBHE) 395,868 381,761 14,107
slste BIE s 395,868 381,761 14,107
X8y 2o 99,708 95,518 4,190
201 LBt Y| 40,078 35,888 4,190
01 Al22+2|H| 15,588 14,398 1,190
OHIAEY =D 7,000 %172 x20 2,380 1,190 1,190
03 ALY 6,000 3,000 3,000
03230 tuto] U s AL 29|
3,000,000 *13] 3,000 0 3,000
A2l 121,802 120,802 1,000
405 THAHE S| 11,600 10,600 1,000
01 XHAtLSE3SH| 11,600 10,600 1,000
OMBA HMHAI 0012 2
3,000,000 %14l 3,000 2,000 1,000
ArBlOtE Y D& 10,303 7,615 2,688
301 YBrB AR 7,263 4,575 2,688
04 XIS 7,263 4,575 2,688
OXSLHHY m=H| 112, 0002 24 2,688 0 2,688
AIEX A& 22 50,634 46,405 4,229
101 Q1A 15,100 12,131 2,969
04 JIZM2ERER 2 15,100 12,131 2,969
OBIATME DESEA el 02 2,969 0 2,969
—Jlez 35,830 * 14«60 2,150 0 2,150
—=Rpag 35,8309 * 1 « 12 430 0 430
—oe3sYLY 35,8309 * 1«0 72 0 72
—iypBEE 2,652,000 *11.94% 317 0 317
201 LBt 05,460 24,200 1,260
01 A2+l 2,660 1,400 1,260
O2Z3FA 2L 27 30,000 x21= #23] 1,260 0 1,260
ARD Folimol X9 61,725 59,725 2,000
201 LBt 21,725 19,725 2,000
01 A2 22l 21,725 19,725 2,000
OARD FTDIEQ XY AXZ 21,725,000 21,725 19,725 2,000
N 2AAY (2LH)(IIEHIIE 50,710 49,710 1,000
Jl=2Al 50,710 49,710 1,000
EYOSIEET 42,440 41,440 1,000
202 OfH| 26,600 25,600 1,000
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SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N
01 =2Uioibl 5,000 4,000

OJlzge=d 5,000,000& 5,000 4,000




